Divisible by three

Loor INVARIANTS and a constraint relaxation are used to solve this
problem.

Show that an integer is divisible by three iff the sum of its digits

in decimal representation is divisible by three.

The following proof is a delightful example of unconventional think-
ing”.

We have to work with the digits in decimal representation of some
integer n. Let’s denote with s(n) the sum of those digits. We will prove
something stronger than the problem:

s(n) = n — 9k, for some k € Z

The delightful twist that we are going to use is a relaxation of deci-
mal representation: we will allow digits bigger than nine. We will then
heal the representation back to decimal digits less than ten in a loop
while maintaining s(n) = n — 9k as a loop invariant.

We start with a representation with just one digit, namely # itself:

n= Zdiloi, withdy=nand Vi >0:d; =0
i=0

This is not yet a valid decimal representation if dg > 9, but the loop
invariant does hold: s(n) = Y,_od; = n = n—9-0. In a loop we
now keep subtracting ten from dy and adding a carry-over one to d;
until dy < 9. Each time through the loop d; increases by one and d
decreases by ten, so s(n) = Y ;_ d; decreases by nine:

* Unfortunately I don’t know the ori-
gin of this proof and I don’t remember
where I first saw it.
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di < d;+1
do(—do—lo
s(n) < s(n)—9

This means the loop invariant s(n) = n — 9k is maintained during
the healing of dy. Eventually dy < 9. We then look at d; and heal it
similarly, carrying over to d, and subtracting ten from it. Again the
loop invariant holds. We repeat this for all digits until all are healed.
The healing has to finish because # is a finite integer with a finite deci-
mal representation. In the end we have a valid decimal representation
and the loop invariant still holds which proves our problem.

102 10" 10°

| | [ 12 | s(112) =112=112-0-9
| [+ ][ 12 | s112)=103=112-1-9
| [l 2 || 2 | s(112)=94=112-2-9
| [ |[ @ | s(12)=85=112-3-9
| [ 4 ] 2 | s(112)=7%=112-4-9

[

[

[}
| [ 0 ] 2 | s(112)=22=112-10-9
| | ] 2 | s(112)=13=112-11-9
| ! || 1 || 2 | s(112) =4=112-12-9

Obviously one could just observe that 10 =1 mod 3, so also 10F =
1 mod 3 and the divisibility rule follows immediately.

n=Yd10'=)d; mod3
i=0 i=0

Figure 1.1: Example with n = 112. In
each row the boxes represent the digits
in the decimal representation (least sig-
nificant on the right). In the first row
the representation has only one digit, the
number itself. Going down, each row is
one step in the healing of the represen-
tation while maintaining the loop invari-
ant s(112) =112 — k- 9.



